
 

 

3𝑥الف ـ   ـ1   +
1

3
𝑥 =

10

3
𝑥 .ب ـ صفر، ج ـ یک برابر، د ـ نیستند ، 

 ـ 2 

𝑎⃗ = [
0
2] , 𝑏⃗⃗ = [

−2
0
] , 𝑐 = [

−3
−3
] → [

−3
−3
] = 𝑥 [

0
2] + 𝑦 [

−2
0
] 

{
−2𝑦 = −3 → 𝑦 =

3

2

2𝑥 = −3 → 𝑥 =
3

2

→ 𝑐 =
−3
2
𝑎⃗ +

3
2
𝑏⃗⃗ 

 ـ 3 

𝑥 = − [
2
3
] + 6 [

0
−2] = [

−2 + 0
−3− 12

] = [
−2
−15

] 

𝑦 = −3 [
−2
−15

] + [
0
−2] = [

6
45− 2

] = [
6

43
] 

 ـ 4 

[

−6
3
−

2
5
× 25

1
3
× 12 +

2
5
× 15

] = [
−2 − 10

4+ 6
] = [

−12
10
] 

 ـ 5 

𝐴 + 𝐴𝐵⃗⃗⃗⃗ ⃗⃗ = 𝐵 → 𝐴 + [
−3
2
] = [

1
−2
] → 𝐴 = [

1
−2
] − [

−3
2
] = [

1 + 3
−2 − 2

] = [
4
−4
] 

 ـ 6

 

2𝑢⃗⃗       

 

 

 

 

⃗ ⃗ ⃗ ⃗⃗  



 

 

 ـ 7

 
a − 2 = 0 → a = 2

2𝑏 − 3𝑎 − 6 = 0 → 2𝑏 − 6− 6 = 0 → 2𝑏 − 12 = 0 → 2𝑏 = 12 → 𝑏 = 6 

ـ   8    

𝑥⏞

بهرام 

+ 2 = 2( 𝑦⏞
آرمان 

+ 20) → 𝑦 + 20 + 2 = 2(𝑦 + 2) → 𝑦 + 22 = 2𝑦 + 4 → 𝑦 = 18 

  ـ 9

1 − 𝑥𝑦
𝑥

𝑦(𝑥 − 3𝑦)
×

2𝑥 − 3𝑦
−1+ 𝑥𝑦
𝑦

=
1 − 𝑥𝑦

𝑥𝑦(𝑥 − 3𝑦)
×
𝑦(2𝑥 − 3𝑦)
−1 + 𝑥𝑦

=
−2𝑥 + 3𝑦
𝑥2 − 3𝑦

=
−4 − 3
4 + 3

= −1 

   ـ 10 

AB = AD
𝐴𝐶 = 𝐴𝐸
𝐴1 = 𝐴2

→ 𝐴𝐵𝐶 ≅ 𝐴𝐷𝐸
 اجزای متناظر
→     𝐸𝐷 = 𝐵𝐶 → 𝑥 = 6 

 ـ 11 

152 ≠ 132 + 142

225 ≠ 169 + 196 = 365
این قائم  زاویه نیست

                              

252 = 202 + 152

625 = 400 + 225
 یک مثلث قائم  زاویه است

 

 ـ 12 

{
𝐴𝑂 = 𝑂𝐸
𝑂𝐵 = 𝑂𝐷
𝑂1 = 𝑂2

ض ز ض
⇒   𝐴𝑂𝐵 ≅ 𝑂𝐷𝐸

اجزای متناظر
⇒     {

𝐴𝐵 = 𝐶𝐷
𝐷 = 𝐵
𝐴 = 𝐸

 

 ـ 13

𝑥 = √202 − 52 = √400 − 25 = √375 

 

x  

  



 

 

 ـ 14 

𝐷𝐵 = √32 + 42 = √9 + 16 = 5

𝐶𝐵 = √52 − 22 = √25 − 4 = √21
,  

 

 

 

 

 ـ 15 

𝑦 = 𝐴𝐵 = √22 + √24
2
= √28

𝑥 = √32 + 52 = √9 + 25 = √34
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